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QUESTION 1

You are required to change today\\'s daily rates for converting GBP to USD. What are three ways in which you can
update existing daily rates? 

A. Use the spreadsheet loader from the Currency Rates Manager. 

B. Import daily rates through the Daily Rates open interface table. 

C. Update rates manually using the Currency Rates Manager, which can be accessed only from the Functional Setup
Manager 

D. Update rates manually using the Currency Rates Manager, which can be accessed from the Functional Setup
Manager or the General Ledger\\'s Period Close work area. 

E. Edit existing transactions and update the rates manually. 

Correct Answer: BCD 

 

QUESTION 2

Before implementing Fusion Financials, your customer used to manually reconcile their intercompany payables and
receivables accounts. 

What is a more automated approach to do this? 

A. Run the BI Publisher reports called Intercompany Transaction Summary and Account Details to automatically
reconcile intercompany balances. 

B. Create a query using Oracle Transactional Business Intelligence (OTBI) that will match the intercompany payables
and receivables balances. 

C. Run the Intercompany Reconciliation report, which shows pairs of intercompany receivables and payables accounts
that are out of balance. 

D. In Fusion Financials, you must manually reconcile your intercompany account balances. 

E. Use Oracle Hyperion Close Manager to automatically reconcile intercompany account balances. 

Correct Answer: B 

 

QUESTION 3

Which two statements are true regarding how Intercompany Balancing Rule, are defied? 

A. All ledgers engaged in an intercompany transaction must share the same chart: of accounts in order to define
balancing rules 

B. You can only define balancing rules for different journals\\' sources. You cannot define balancing rules for different
journal categories. 
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C. You can define different balancing rules for different combinations of journal sources, journal categories, and
transaction types 

D. You can define different rules for different charts of accounts, ledgers, legal entities, and primary balancing segment
value. 

Correct Answer: AD 

 

QUESTION 4

You created your first Implementation Project and assigned the Application Implementation Consultant role to your user.
However, you are unable to access Oracle Identity Management (OIM). This issue was caused because you did not
assign the_____. 

A. Line Manager role to your user 

B. Application Implementation Manager role to your user 

C. IT Security Manager role to your user 

D. Superuser role to your user 

Correct Answer: A 

 

QUESTION 5

You entered users who are both employees and contingent workers. You want an automated way to assign, reassign,
and remove roles from users. What feature do you use? 

A. Oracle Identity Manager Roles Assignment 

B. Access Policy Manager\\'s Role Generation 

C. Role Mappings 

D. Data Roles 

E. You cannot reassign contingent workers. 

Correct Answer: C 
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